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CHEMISTRY
Course ID : 51418 Course Code : UGP/CHEM/501/DSE-1A

Course Title: Green Chemistry

Time: 1 Hour 15 Minutes Full Marks: 25

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five questions: 1x5=5

(P P AF Teq WS s

(a) Which gas was released during Bhopal Gas Tragedy?
G ST GG G S sfe zrafee 2
(b) Give an example of ionic liquid.

G5 STF TG THIZFS WS |

(c) Write the full name of VOCs.
VOCs-4ag #Jl <IN (1641 |

(d) Give two examples of Green solvent.

A TR o SrRgel wie |

(e) What is Pigment?
& o F?

(f) Write two examples of alternative source of energy.

i s *ife-Berra W @i |

(g) What is heterogeneous catalyst? Give an example of it.

SPTIGTOR SIE6F JEIO F (@I 2 G0 Swizgel 7l |

(h) What is Micelle?
AT F 2
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2. Answer any two questions: 5%2=10
& P 7o 2R Tl WS ¢
(a) (i) Microwave heating is more efficient than ordinary heating. — Explain.
Al QAR (A NEFERS Telo @ G | — T |
(i1)) What is the principle of microwave heating? 2+43=5
TR@EISES TEoi @I Ffors Fe a2
(b) (1) Define oil and fat.
(9% '@ (FRAMIAA F<@ (=4 |
(i1) Describe an ultrasound assisted reaction. 2+3=5

GG SEGPIS Fera & qedq e

(c) (i) Define ‘Atom Economy’.
BT TR @ el |

(i) Calculate the atom economy for the following reactions.

vz ffenele cv wnitw S sear St ¢

o/w on X
i) A
(A)

(B) %—OH _HA %—CHHzo

Br,
(C) CH,=CH, W’ ?Hz_?Hz 2+3=5
Br Br

(d) (1) Whatdo you mean by Super Critical CO,? Discuss its use in Green Chemistry. 2+3=5

A9 fFBTE CO, e F @RI q TA[ET TR SAEG IR |
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3. Answer any one questions: 10x1=10

@ I GF0 A0 TEd WS ¢

(a) (i) What do you mean by Antifouling agent? Give with an example.
SRR “wid e e F @R 9 Swizel wie |
(i1)) What are the environmental hazards from the use of TBTO?
TBTO <GS ¥ AfREeIw Ffoais el Fe
(iii) Name a green replacement of TBTO.
TBTO-49 7wl &l (eold a1 (e1edl |

(iv) What is renewable feed stock? Give an example.

FAFAAAEI *fEg T T2 TuRHe WS |

(v) Discuss the role of H,O as a green solvent in Chemical Synthesis.
s PN Sed Sl D FC |

(vi) Give an example of a biocatalyst. 242+14+242+1=10
OFb (TR-SRJA6(FE SHIZAe WIS |

(b) (1) What happens in the following reactions?
3 96 fnfeie RiTmafrs

O
iglyme
A + ‘ _Diglyme _,
(A) 0 —oge
O

CH,

aq KMnO, + aq KOH

(B)

?
5 min

COCH,

(C) aq NaOH
MW, 2-5 min

CH212/ZI’1/THF

Ultrasound
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(ii)) How can you convert catechol to adipic acid by biological method?
& “mferes FIE@ Catechol (A adipic acid-93 Fo€T FA( ?

(iii)) Write down one example of each : Microwave assisted Hoffman Elimination reaction
and Oxidation of alcohol.

G356 T TR e ¢
Microwave 2@ Hoffman Elimination i@ @3 Sz e &Kia |

(iv) Explain with suitable example why photocatalysis is an important tool in Green
Chemistry. 44+2+2+2=10

TR AN IR SIETE Smivited gl il S|



